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1. mm%@ﬁ-«: 1x8=8

Answer the following questions :

(@) CIATH! TR T fay |

Define Pareto efficiency.

(b) &= TR GBI Tz Fa o

Give an example of public good.
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(3)
(2)

(c) oAE S

c) #FH 9 A=\ |
) e Pollution permit

Give the definition of club goods.

d) GST3 = Foht foran
(d) . I fern , Incidence of. factor taxes under perfect
Write down the full form of GST. competition -

() TR AROR b1 Brreat Foap ) | (e) FEW MTEB, 2023-24

Give an example of positive externality.

(N v Re e fan
What is public finance? i

(d) <1 AR TETS BoM I Ao

! Central Budget, 2023-24

S RPTRE BeR o (2Bl 500 mem Rewe) -
Answer the following questions (within 500 words

(g) JeTIRT Ao N 2 - each) :
~ What is fiscal deficit? | | . 3. (a) A Re o & f
(h) @B I P AT forar 1 e Renmg oS smemonsr I 11 3+9=12
' Write down the name of a local. tax. : What are the main components of

© public finance? Explain the normative
2. &R R @ oiBR eme oy Gret Brr (afdgs approach to public finance.

150 R foow®) : . 4x4=16 ' %31/ Or

Write short notes on any four of the following (b) Jomq @S Ww B2 IO THST [RM
(within 150 words each) : | T el WF wHOR WE IYFEN

(@) R RS Rerm RR bl o

What is welfare economics? Explain
Pareto  efficiency.  Describe  the

(b) T& SR TP differences between equity and
efficiency.

Scope of public finance

Free rider problem
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(b)

5. (a)

(b)
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(4)

4. (a) ﬁwwwvaw'mmmmn

IR TN PqS WE M Rea e 546=11

Distinguish between pure and impure

Public goods. Why does the market fail
In case of public goods?

YT/ Or

OYETT IR WA MR wEhn

TSR BT SISRTHR] | 11

Criti .
ritically explain Samuelson’s benefit

“theory of public expenditure

(2+3)+6=11

Discuss the meaning and types
of externalities. Explain any three

methods. of internalization of
externalities,

ST/ Or
®
""Fﬁaﬂwwmwwn 1i

Explain Cq
as i
- A e theorem with suitable
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6. (a

(b)

7. (a)

(b)

P23—1200/1088 6 SEM TDC DSE

(S)

TRRe 71 QER ¢ 9F FEER T
= IR QAEY GUAN TR A
oppRen FIETRe 3R B 3@ ? 6+5=11
Explain the meaning and types of
excess tax burden. What are forward
shifting and backward shifting of tax
burden? ‘

%1/ Or

o4l SR T S DA TS TG I

wiefree eicd Bore foapig e 9 |
6+5=11

Discuss the incidence of product
taxes under perfect competition and
monopoly with suitable diagrams. °

oRer R8T TEHINT RS «f SRS
¢orn fera 1 11
Write a critical note on fiscal federalism
in India.

o’/ Or .
sHed e Re wF A Res Rsw

HcaAnAl 41 |
Discuss the State and local finances

of India.
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